In a normal distrﬁblmm.

oy g g b i ¢ 68% of data fall within one standa
Mﬁons devi?tion . deviation devna'tlons deviation of the mean _
L I e 95% of data fall within two standa
deviations | deviations of the mean o .
e 99.7% of data fall within three standard |

deviations of the mean

Example 1: The following normal disfribution describes the repair times for a local auto shop. Answer the quesﬂam -

below: "/ So /.
‘_____EQ_L_—’*——-\————-—; a) What is the mean repair time for the aufo

shop? . ..
o V(S 42 IR ‘\}M‘

b) What percentage of repairs take between 84
and 120 minutes?

B /s
c) What percentage of the repairs fake less than

2 hours?
4/

d) What percenfage of repairs are between 84 minutes and 138 minufes?

A S 9

e) If the shop did 200 repairs this week, approximately how many of them took more than 2 hours? (\w mm’;
50-34= 1w’/ 200(01W )2 32 repoArs

ample 2: Sketch a normal curve for the following distribution: mean = 45, standard deviafion = 5
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3: In a set of fest sco M are nonmally ensmmm Q test metm ,‘,
o of 84 is ' ';‘-.#';-., V~_‘ g a ion . e mean. Wr ’k mm
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1. Label e;gsaphaﬁ thenght sho
t‘he man and the respective

ndard deviation values along the

b@tmm

* 2. Indicate on the graph. the
. RS locations of 68%, 93% and
| 09 7% of the population. ~ «®
referred to as the 3
"empirical rule”. 4
N J

3, What percent of heights falls below 66.5" 7 ; /
o /-
4. What percent of the population falls below 697 7 X
SoY/.

5. What percent of the heights lies within 2 standard deviations of the mean” QS “/,

! 6. What percent of the heights lies within 1 standard deviation above the mean? ? “" " /

2 A male with a height of 71.5" 1s taller than what percent of the population? 9"[ -/

8. According to the empirical rule, 95% of heights fall between what two values?

" anda 74" _

9. Of 200 males. how many men can be expected to have a height between 69" and 71.57?

206 (0.34) = 0D males

10. Of 100 males. how many men can be expected to have a height between 71.5" ‘and 1477

100 (13.5) = (3.5

" 11. The tallest living man in the US is Igor Vovkovinskiy from Mnmesota at 7’ 8™ B ween

two staadéxd devxanon values does Ins hexght he"
L " J‘.‘ 3 .4 E . |




